1) Bent see-saw (25 points)

The see-saw shown at the right consists of a triangular base
and a bar with a 90° bend 2 m from the pivot point on its
right side. A point-like 10 kg mass sits atop the bent arm of
the see-saw bar at a position that is at an angle of 30° above
the horizontal from the pivot point. A point-like 3 kg weight
rests on the left side of the see-saw 3 m from the pivot point.
The see-saw is prevented from rotating from its horizontal
orientation by a rope tied to a point 1 m to the left of the
pivot point; the other end of the rope is tied to a point on the
ground directly below the point where it is tied to the see-
saw bar. Assume that the see-saw bar itself is massless and
not rotating (in other words, it is static).

a) Make a free body diagram of the see-saw bar. Make sure to clearly label all forces.

b) What is the torque on the see-saw bar about the pivot point due to the mass on the
right? Use the convention that clockwise torques are positive.

¢) What is the torque on the see-saw bar about the pivot point due to the mass on the
left? Please check your signs.

d) Find the tension in the rope.

e) What is the largest mass, M3, that could be added to the bar 1.5 m to the left of the
pivot point without causing the bar to rotate counterclockwise? —ﬁﬁ 9
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2) Tank drains into a cart (35 points)

A tank filled to a height of 15 m of water stands next to an |5y

empty 20 kg cart as shown in the figure on the right. At

time t = 0, a square 0.1 m by 0.1 m hatch on the side of the Ui

tank is opened for exactly one second, allowing water to =

rush out of the hole and fill the cart. All of the dimensions s W%
of the tank are much larger than the size of this hatch, so 2 \©_ /
the water level remains essentially unchanged after the ‘K :

hatch is closed again. The hatch is located 5 m from the Ve ® e

bottom of the tank. The density of water is p = 1000 kg/m”.

a) There is a rock with volume Vg = 0.01 m’ sitting at the bottom of the tank. What is
the buoyant force on the rock due to the water?

b) What is the pressure in the water inside the tank at the same height as the hole? State
whether you are expressing your answer in terms of gauge pressure or absolute
pressure and be consistent with your choice for the rest of this problem.

¢) What is the speed of the water shooting out horizontally through the hole?

d) How much water (in kg) pours from the hole during the 1 sec that the hatch is open?

e) Assuming that all of the water that leaves the tank lands in the cart and none of it
spills, how fast does the filled cart move to the right after the hatch has been closed?
Assume the cart’s wheels are massless and frictionless.
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3) Mechanical advantage (20 points) areazAy o et

A 1000 Kg car is raised 2 m off of the ground using a

hydraulic lift, which con51sts of a U-shaped tube that has a e A Q
small area Agr=0.001 m® on the right side and a large area qrea:!i 2‘}
AL=2 m? on the left side. A car mechanic exerts a —_lye

downward force on the right side of the lift with his foot. point b2

Assume that the hydraulic fluid has the density of water:
= 1000 kg/m”.

a) What is the pressure of the hydraulic fluid located at point C, which is right under the
car? State whether you are expressing your answer in gauge pressure or absolute
pressure and be consistent with your choice for the rest of this problem.

b) What is the pressure of the fluid at point G, located at ground level on the left side of
the 1ift?

¢) What downward force must the mechanic apply to the lift with his foot to keep the car
from falling?
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4) Rolling down a ramp (20 points) Lo vy \1/

A wheel with mass M = 3 Kg, radius R = 1 m and moment Thvaal
of inertia of I = % MR? about its axis of symmetry rolls x

down a ramp without slipping. The wheel starts at rest with

its center of mass at a height of 11 m above the ground.

The ramp is inclined at an angle of 30° from the horizontal A

and there is a spring at the bottom of the ramp with a R=lm
rounded piece of metal attached to slow the wheel when it

reaches the bottom.

H v

a) When the wheel is halfway down the ramp, so that its center of mass is 6 m above the
ground, what is its linear velocity?

b) At this point, what is its angular velocity?

c) At the bottom of the ramp, the spring slows the wheel to a stop right when the wheel
reaches the ground, so its center of mass is R = 1 m above the ground. Assuming that
the wheel never slides on the ramp, and that the surface of the rounded piece of metal
attached to the spring is frictionless, how much energy is stored in the spring at the
moment that the wheel comes to rest? Please explain your answer.
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